2P _RiRRIZEIERTK

=X FHEAR HE
Oim B ——1rBI%E— (2) P.8
M EEIE - -~ AE Y AR A EEBERR - -
O nﬁﬁ:%%u_‘_ﬁaﬂé%_‘ 3)
54—
HEEEIE om
E”Il—_. g N — —
. W rerrrerrre : i
THIgE = (1) =z
s e 45°
ﬁ %
Ofim— () HEEEEN P. 24
2 2
RAETE : —+25 =1
a’ b
Osfem— BAE T IZHHE" 1) @| p og
MEMBIE - RE 3 AR
O BRI — —TrHlghE BEEIE : P. 31
61 53 —11
LS ffﬁ’% =5 &)
b — - ey
- fEE 925
O EH= THEE= (1) > 2
EIEBIE  Dk>50k =53k < 5
Ot =EA——T17BI%E— 4) P. 34
%Eﬂ%ﬁ e (x44) 2+y2:100 ......
O am =i — P.35
h + acos 6
GRAETE + (D) vnewnn ) T L
NBEIE @ {k+bsin6

R 2 Agmjaded ko
(BEBYERFJIIM B S BN EENITE )




b — NHBARERIZEIER R

i

=X FHEAR HE
Ostim—=—1rRl4E — P. 36
(3) (4)
X A
A
e )FF A/-% > X /_060° >y
T HEE &73/ kJ
OnfamlU  17BI8RE (1) BZFEIE P. 38
(x—2)% (y- 2)2_
@ 16 25 =1
Offaw— @A (5 #ZHNEEIE P .54
B e a=5>b=3>c=4HEEHES
- o lx-0? y-22?
25 t— o =1
Offam—EM =—1J7HI%E = (2) P.57
BT L BZAEIE : D0 <k <V17 » @k = V17

» @) k>V175k < 0

B 2 iEgd ko
(AEDER R R EZ O HEENEEE )




